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12 JOURNAL 0F EDUCATION.

8.-SCIENCE (CHEMISTRY, &e.), C.

1OiyZLe questions to ho answered.)
I. (a) State the comimon naine and color of enclh of the- foliowing chemnical substances:

KO! I, KCI, (Zn S 0 4  7H- O ), (Ou S0 4 +5H2 O), (Fe o 4 +±7 H4 0), Fes 0.13 Fe,,0 8 1
(2 Fe', 03 +3 IT. 0), POe S, PeS0 .

(b) Distinguish betveeni he etTects of the folloiving substances when alUowed to falli
* on clan whiite paper wood, or clot.hi Sulphuric aeid, hydrochloric acid, nitric acid,

silicie a idand ainmoeia
12. 13 grams of Zn are clissolved ie HCI. What is (a) the weighit and (b) the volumne

of the gas procluced ?
3. (a) If table i'inegar shouid hie suspected to be acidulated with sonie sulph cric acid,

descîibe hiow ydu wouid test the truth of the suspicion (b) WVrite a note on the carbo-
hydrates.

4 Discuisa -%it.h any illustrations the halogen elements (a) as to their similarities, (b)
as to their différenîces.

5. Discuss (a) ngnsunand its compouuids, or (b) lead aîîd its coitpounds, or (c) the
developing of a photographie plate.

6. (a) Give the scale of hardness useid iii testing or describiîîg inierais (b) What
miinerais are fouind in granite? (c) Discuiss the reiationslîip pf granite and gnîeiss.

7. Epanthe ternas : Concretionary, Liatoiaeeous earth, înetaniorphic, obsidian,
stratification, cleavage. Name the different kinds of Nova, Seotian roý-h- yoci have seen.

(The folloNving may ho substituted for 6 and 7 above.>
* 6. Give some idea of the inorugunic mater renoved froni the soi! by crops - (any

special crop nay bo selectec)-so as to expiain the action of special fertilisers.
7. (a) Discuss the rcla.ion of soul to the geological formation of the country ; or (b>

* the inost practicable manner of advanciîîg agrictultural industries in the couutry, or (r) the
special brecuds of animais most profitable to be raised on Nova -Scotian farcis.

9.-DRAWING AND BOOK-KEEPING, C.

(Values neeci nol. ho expeeted iii this palier for ainswers in which the Diîaii and
lVriling do not. exhibit evidence of successful training of tlic hand to do neat and accitrate

wvork.)
1. Drzt% on the scale of one hundred to an inch, the t.rian -le w'hose base is 468, whose

perpendicular hieiglit is 32-7), andi one of whiose sides is 379 ; anii find by inesreinent the
reniaining side and angles.j2 Draw a cylinder resting on the centre of the upper face of a cube of about equal
lieight but twiice its liarneter, as seen whiee belowv the level of the oye and a littie to the
right of the front

3. Draiv (a) any design. or (b) any objcct connecteil with your Il science »"studies.
4. (az) What accocnts.of the Ledger are' closed juto - Profit and Loss? " (b) When

the 'Balanuce per Inventory " and the "lBalance of the Account " fait on the sanie side,
what is its significance. 'Mention Ledger Tities whlîih xnay have thiese twvo balances as a
mile. Is 'lCash -"one of thiei

5. (a> Write out a short saniple of an Account Sales, showing payanent of frcight, sale
of consignment on credit, charge for storaae and commnissions, and closing of the aceoiint.
(b) Jourmalizo cach item ini this series of transactions.

lO.-ARITHMETIC, C.
1. Divide $19IS6 50 among A, B and C, in the proportion of 2.î, 1.10 and .5ü4

respectivc]y.
2 (a) The ieterest on a certain suai at simple inerest is $360, and the discount $,340

Nwhat is the isnnVii (1) %'hlat wvil $5 aiount to iii 4 years at 6 lier cent. coiipDund intercat?
3. If 6 licr cent. bc gaincd by seiling a horse for $132 50, lîow mch per cent. is lost

by seling lî:m for ,3115 ?
4. A persan ievests ?6825 je 6 per cent. stock at 91 ; hoe colis eut $S5000 stock wlhen it

lias risen te 93-1, and the remainder wlien it lias falien to 85. Iloi iîncli doos lie gain or.
)ose in tu transaction ?

5. (a> A rooi is 22 f t. 9 ini. long, 20 ft. 3 in. %vide, andi 10 ft. 9 in. higli. Find the
cost of' carpeting the roomni t 81 '20 a square yard, andi of papering the wvaiis at 20 cents a1
square yard. <b Boughît 10 înetres of cloth at 2 francs per nietre, andi sold it at 50 cents

* per sard. Whlai wvas gaineti or bast hy Lime transaction ?


